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Fxplain five functions of statistics. (10 marks)

The following data relates to the infant survival and female adult literacy in nine
counties around Kenya.

County
Female adult literacy rate (%)
Infant survival rate (per "000°) | 1
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(i) Calculate coefficient of correlation between female adult literacy and infant

; ntary—{Zx ATy )
al . o= —
survival . Take: r Tnea — (T Jnly | Eﬁ
{ii}  Imterpret the pesuelt obtained in (i) above. i 10 marks)

The following are the daily wages, in Kenya shillings, of workers in a children’s home.

140 139 126 114 100 88 62 TT 99 142
129 144 143 134 63 69 148 132 118 108
123 105 95 B0 85 106 123 133 103 116

(i)  Prepare a frequency distribution table, starting with 60-75, using the exclusive
method. (€ marks)

{iiy  Calculate the mean daily wagg: (2 marks)

The following table shows themarks scored by students in a Statistic test.

Marks (%) 0-10 | 10:20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-T0
MNo. of students 7 12 18 25 16 14 8
Calculate:
(1) median,
{ii)y  co-efficient of mean deviation. (10 marks)
Explain five advantages of sampling in data coliection. {10 marks)

Out of 300 students in a girl’s school, 95 play cricket only, 120 play football only, 80
play volleyball only and 5 play no game, If one student is chosen at random; determine
the probability that

i she plays volleyball; {3 marks)

{iiy  she plays either cricket or volleyball. {3 marks)

{iity  she plays neither foothall nog violleyball, (4 marks)
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(i Highlight two charactenstics of a good estimator. (4 marks)

i) A sample of 6(i) sccounts was taken to test the accuracy of posting and
balancing of accounts, 45 mistakes were found. Using 99% confidence level,
calculate the population propostion. (& marks)

Kolo Children Home uses 10,000 unitz of prodoct X10in 8 vear, Annual carrying costa
are Ksh 5 per umit per year, white the ordering costs are Ksh 250 per order.
Determine the:

(i) Economic Order Qunatity (EOQH;

(i) number of orders in a year;
(ifi)  tomal relevant cost { L0 marks)

Explain each of the following terms as used in sampling:

(i) Quota sampling; e (2 marks)
(i1} Snowball sampling; (2 marks)
(ili) Random sampling; (2 marks)
(iv)  Stratified sampling. (2 marks)

The following table shows the number of elderly persons admitted in Njema Home.

Year i 2l Al 4 |1 5]l 7 ]|8]3118
No of elderly person | 100 | 111 P23 | 125 | 129 139 | 152 | 159 | 165 ] i71

Using the equation: y=a +m estimate the number of elderly persons to be admitted
in year 11. : {12 marks)

Explain each of the following terms as used in hypothesis testing:

[} Null by pothesis, {2 marks)
{ii}  Alternate hypothesis; {2 marks)
{iiiy Typelermor; (2 marks)
{iv) Type Il error. {2 marks)
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{b)  Pawz Homes intends to undertake 2 project with the following activities and project

duration:
Activities | Preceding activity Duration

(weeks)

A - 7

B =R 7

c == T

D A 3

E B 2

F C 3

G C 3

1 G 5

] EF 4

K DL B

(i} Draw a network to represent the information above.

(i)  Determine the critical path and project duration,

24 (a)  Explain four advantages of Pay Back period method of investment appraisal,

(b)  The wapes of workers in Upend¢?Child Care organisation is as follows,

~y

Wages (Kshiday)

L&k thian 35

35-37

3840

41.43

Over 43

Mumber of workers

14

62

94

15

7

Using the above data, calculate:

(i quartile deviation;
{ii}  eo-efficient of quartile deviation.

2428204
CrerdNov, 2023

[ 12 marks)

(12 marks)



B {a)  Explain four components of time seres. (8 marks)

(k) Mama Oda Children's Home intends to invest Ksh 10,000,000 in either project A or
project B. The following are the expected net cash inflows from the projects.

Project  Project

A B

Year Ksh Ksh
200000 3 000,000
3000000 2 000 000
1000000 -2 000,000
2,500,000 000,000
S00.000 4 000,000

Whoda WD kD e

The cost of capital is 10:%.
(%) Determine the net present value for each project.

(i)  Advise the management on the project to invest in, using the values oltained in
(i) above. (12 marks)
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